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co11
න sin ݔ ݔ݀ 
න cos ݔ ݔ݀ 
න secଶ ݔ  ݀
න cscଶ ݔ  ݀
න sec ݔ tan
න csc ݔ cot

9)  8.2

osଶ ݔ ൅ si
 ൅ tanଶ ൅ ݔ cotଶ ݔ

ݔ ൌ െ cos
ݔ ൌ sin ݔ
ݔ݀ ൌ tan ݔ
ݔ݀ ൌ െ co
n ݔ ݔ݀  ൌ
t ݔ ݔ݀  ൌ

2   Tr

inଶ ݔ ൌ 1 ൌ secଶ ൌ ݔ cscଶ  ݔ

ݔ ൅  ܥ

൅  ܥ

ݔ ൅  ܥ

ot ݔ ൅  ܥ

sec ݔ ൅ ܥ
െ csc ݔ ൅

  

rigon

 ܥ

 ܥ

nome
 

 

etric 

s
sin
co

න tan ݔ ݀
න cot ݔ ݀
න sec ݔ ݀
න csc ݔ ݀
න ݁௨ ݑ݀ ൌ
න ݑ1 ݑ݀ ൌ

integ

in ݔ2 ൌ 2
nଶ ݔ ൌ 12 ሺ
sଶ ݔ ൌ 12 ሺ

ݔ݀ ൌ െ ln
ݔ݀ ൌ ln|si
ݔ݀ ൌ ln|se
ݔ݀ ൌ ln|cs
ൌ ݁௨ ൅  ܥ

ൌ ln|ݑ| ൅

 
grals 

2 sin ݔ cos
ሺ1 െ cos 2
 ሺ1 ൅ cos 2
|cos |ݔ ൅
n |ݔ ൅  ܥ

ec ݔ ൅ tan
sc ݔ െ cot
 ܥ

(A) 

 ݔ

 ሻݔ2

 ሻݔ2

 ܥ

n |ݔ ൅  ܥ

t |ݔ ൅  ܥ
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Trigonometric integrals 
sinملات تحتوي على اأولا تك ݔ  , cos   ݔ

  الحالة الأولى 
sinتحتوي على                   ݔ  , cos sin௠    مرفوعين لأسس على الصورة     ݔ ݔ   , cos௡   حد الأسين فرديأبحيث  ݔ
  نسحب واحد من النسبة ذات الأس الفردي ونحول الباقي للنسبة الأخرى                
 :مثال                

Sinଷھنا ا لـ  1 න  ) 3( أس فردي  ذات   ݔ Sinଷ ݔ  cosଶ ݔ  ݔ݀

sinتم سحب  2 Sinଷمن    ݔ sinଶ  فتصبح  ݔ න  ݔ sinଶ ݔ ∙ sin ݔ ∙ cosଶ ݔ  ݔ݀

sinଶتم تحويل   3 ሺ1إلي   ݔ − cosଶ ሻ  නሺ1ݔ − cosଶ ሻݔ cosଶ ∙ݔ sin ݔ ݔ݀
ݐ  استخدم التعويض  4 = cos  ݔ

ݐ݀  ݐ݀ثم اشتق لتحصل على الـ  5 = − sin ݐ݀− ݐ = sin ݔ  ݔ݀

−  3عوض في التكامل الناتج من الخطوة رقم  6 නሺ1 − ଶݐଶሻݐ  ∙  ݐ݀

  ملحوظات                                
sinإذا كان أسس الـ     -1                             ݔ   , cos   كلاھما فردي نسحب من الأس الأقل  ݔ

               sinସ ݔ = ሺsinଶ ሻଶݔ = ሺ1 − cosଶ   – ሻଶ                         2ݔ
׬    على التكاملات مثل   تسريھذه الطريقة    -3                             cosସ ݔ sin ݔ ݔ݀   , ׬ cosଷ ݔ   أيضا   ݔ݀ 

  الثانيةالحالة 
sinتحتوي على                   ݔ   , cos sin௠    مرفوعين لأسس على الصورة     ݔ ݔ   , cos௡                 كلھما زوجيالأسين بحيث  ݔ
يتم حل التكامل بالاختصارات مستعين بالقوانين الآتية                   sinଶ ݔ + cosଶ ݔ = 1 1 

cosଶ ݔ = 12 ሺ1 + cos  ሻ 2ݔ2

sinଶ ݔ = 12 ሺ1 − cos ሻ 3 sinݔ2 ݔcosଶݔ = sec ݔ tan cos 4 ݔ sinଶݔ ݔ = csc ݔ cot  5 ݔ

sin ݔ2 = 2 sin ݔ cos cos 6 ݔ ݔ2 = cosଶ ݔ − sinଶ cos ݔ ݔ2 = 2 cosଶ ݔ − 1 cos ݔ2 = 1 − 2 sinଶ  ݔ
7 

 
  



Exa

ܫ = න    = න    = න
Let    ܫ = න   = 13     =
 

Exa

ܫ = න    = න
Let    ܫ = −   = 14
 

Exa

ܫ = න    = න
Let  ܫݑ = −
    = −     =     =

(

HOS 

ample 1

න tanଶ ݔ  coන sinଶ coන ݔ sinଶ ݔ ሺ1ݑ = sin ݔ   න ଶሺ1ݑ − ଷݑ ଶ13ݑ − ହ13 sinଷݑ 15 ݔ −
ample 2

න tanହ ݔ නݔ݀   sinସ ݔ cosݑ = cos ݔ  − නሺ1 − ଶ14ݑ ସିݑ − ଶିݑ
ample 3

න sinହ cos√ݔ ݔ නݔ݀ ሺsinଶ ሻଶሺcosݔ ݑሻଵଶݔ = cos ݔ    − න ሺ1 − −ሻଵଶݑଶሺݑ න ൬ିݑଵଶ −− ൬2ݑଵଶ − 245 cosହଶ ݔ −

(19)  8.2    T

SSAM   G

1 Eva

sହ ݔ ݔ݀ = නosଷ ݔ ݔ݀ = න− sinଶ ሻݔ c                    ଶሻ ݑ݀ = නሺ
ହ +  ܿଵ 15 sinହ ݔ +
2 Eva

( 3 p

ݔ = න sinହcosହsିହ ݔ sin ݔ                       ሻଶିݑହ݀ݑ =
ଶ − ln|ݑ| +
3 Eva

ݔ =  න sinସ√cos ∙  sin ݔ ଶሻଶ                    ݔ݀  ݑ݀  = −
− ଷଶݑ2 + ଻ଶ൰2ݑ ∙ 25 ହଶݑ + 29 2 cosଵଶ ݔ −

Trigonomet

GHANEM

aluate  the 

න sinଶ cosଶݔ ݔ  coන sinଶ ݔ coscos ݔ ݑ݀              ݔ݀ =ሺݑଶ − ସሻݑ  ݀
ܿ 

aluate the f
pts) 

ହ ହݔ ݔ ݔ݀   = න݀ݔ = නሺsi             ݀ݑ= − නሺ1 − 2ܿ = 14 ሺcos
aluate  the 

ସ sݔ ݔ  ∙  sin ݔ ݔ  = න ሺ1 −ሺc          ݀ݑ =− න ሺ1 − ൰ݑሺݑ2 ଽଶ൰ݑ ݑ݀  + ܿ − 29 cosଽଶ ݔ +

ric integral 

              M

following

Sosହ ݔ sଶ ݔ݀ ݔ ∙ cos ݔ
= cos ݔ  ݑ݀ݔ݀ 

following 

Sන sinହ ݔ cosnଶ ሻଶݔ cosି= − sin ݔ ଶݑ2݀  + ሻିସݔݑସሻݑ − ሺco
following

S݀ݔ cosଶ ሻଶosݔ ሻଵଶݔ  s− sin ݔ ଶݑݔ݀  + ሻଵଶݑସሻݑ ݑ݀ 

+ ܿ 

                  

6516       

 

g integral

Solution

 ݔ݀

 ݔ

integrals. 

Solutionିହ ݔ ݔ݀  =ିହ ݔ sin ݔ ݑହ݀ିݑ ݔ݀݀  = නos ሻିଶݔ − ln
g integral

Solution

in ݔ  ݑ ݔ ݔ݀ 

                  

    68855

න tanଶ ݔ
n 

         න t
n න sinସ ݔ co݀ݔ = නሺ1 −
ሺ−ିݑହ + 2n|cos |ݔ + ܿ

න sinହ cos√ݔ
n 

                  

              

ݔ cosହ ݔ ݀

tanହ ݔ ݔ݀
osିହ ݔ sin −ݔ cosଶ ሻଶݔ c
ଷିݑ − ݔݔ ଵሻܿିݑ  ݔ݀

               P

 غانم        

 ݔ݀

  55 ݔ

osିହ ݔ݀  ݔ sin ݔ
ሻ݀ݑ 

1

3 

حسام

18   Dec.   

 July 23 , 

ݔ  ݔ݀ 

3   May   

 1999

2011

1998
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Example 4 Evaluate  the following  
( 2 1 2ൗ  points) න 1 − tanଶ secଶݔ ݔ ଼/గݔ݀

଴  56  11 December 2011

Solution ܫ = න 1 − tanଶ secଶݔ ݔ గ଼ݔ݀
଴ = න cosଶ cosଶݔ ݔ ∙ 1 − tanଶ secଶݔ ݔ గ଼ݔ݀

଴ = න ሺcosଶ ݔ − sinଶ గ଼ݔሻ݀ݔ
଴ = න cos ݔ2 గ଼ݔ݀

଴  

= 12 ൥sin ൩଴ݔ2
గ଼ = 12 ቀsin 4ߨ − sin 0ቁ = 12 ∙ 1√2 = 12√2 = 14 √2 

 

Example 5 Evaluate  the following integral න tanଶ ݔ sinଶ ݔ  ݔ݀

Solution ܫ = න tanଶ ݔ sinଶ ݔ ݔ݀ =  න sinଶ cosଶݔ ݔ ∙ sinଶ ݔ ݔ݀   =  න sinସ cosଶݔ ݔ =     ݔ݀   න ሺ1 − cosଶ ሻଶcosଶݔ ݔ ݔ݀  = න 1 − 2 cosଶ ݔ + cosସ cosଶݔ ݔ ݔ݀ න ቆ 1cosଶ ݔ + −2 cosଶ cosଶݔ ݔ + cosସ cosଶݔ ቇݔ =       ݔ݀ නሺsecଶ ݔ − 2 + cosଶ ݔ݀  ሻݔ = tan ݔ − ݔ2 + 12 න 1 + cos ݔ2 =     ݔ݀  tan ݔ − ݔ2 + 12 ൬ݔ + 12 sin ൰ݔ2 = tan ݔ − ݔ2 + 12 ݔ + 14 sin ݔ2 + ܿ = tan ݔ + 14 sin ݔ2 − 32 ݔ + ܿ 
 

Example 6 Evaluate  the following integral න cosଶ sinସݔ ݔ  ݔ݀

Solution ܫ = න cosଶ sinସݔ ݔ ݔ݀  =  න cosଶ sinଶݔ ݔ  ∙ 1sinଶ ݔ = ݔ݀  න cotଶ ݔ ∙ cscଶ ݔ  ݔ݀ 

Let      ݑ = cot ݔ ݑ݀                               = − cscଶ ݔ ܫ ݔ݀  = − න ଶݑ ݑ݀  =  − ଷݑ 13 + ܿଵ = − 13 cotଷ ݔ + ܿ 
 

Example 7 Evaluate  the following integral නሺsec ሻሺsinݔ ሻଷݔ2  ݔ݀

Solution ܫ = නሺsec ሻሺsinݔ ݔሻଷ݀ݔ2 = න 1cos ݔ ሺ2 sin ݔ cos ሻଷݔ ∙ ݔ݀ = න 1cos ݔ ∙ 8 sinଷ ݔ cosଷ =     ݔ݀ݔ 8 න cosଶ ݔ sinଷ ݔ ݔ݀  = 8 න cosଶ ݔ sinଶ ݔ ∙ sin ݔ ݔ݀  = 8 න cosଶ ݔ ሺ1 − cosଶ ሻݔ ∙ sin ݔ  ݔ݀ 

Let      ݑ = cos ݔ ݑ݀                               = − sin ݔ ܫ  ݔ݀  = −8 න ଶሺ1ݑ − ଶሻݑ ݑ݀  =  −8 නሺݑଶ − ସሻݑ ݑ݀ = − ଷݑ 83 + ହݑ 85 + ܿଵ     = 85 cosହ ݔ −  85 cosଷ ݔ + ܿ 

 



 
 

Exa

ܫ ൌ න
ܫ  ൌ −    ൌ −    ൌ −
 

Exa

ܫ ൌ න  ൌ න
 
Anoܫ ൌ න
ܫ ൌ ׬ 
 

(

HOS 

ample 8

න sinଶ ݔ sin
− 12 නሺ1 − −ݑ 12 ൬13 ݑଷ −− 16 cosଷ ݔ2
ample 9

න cotଶ ݔ secන cos sinݔ ݔ ∙ 1sin
other  solන cotଶ ݔ sec
׬ ଵ௨మ ൌ ݑ݀   

(19)  8.2    T

SSAM   G

8 Eva

ሺ4ݔሻ ݔ݀ ൌ
ሻݑ ∙ ݑ݀ ݑ ൌ− 12 ଶ൰ݑ + ݔܿ + 14 cosଶ 2
9 Eva

c ݔ ݔ݀  ൌ න
ݔ ൌ ݔ݀  න
ution c ݔ ݔ݀  ൌ න
׬ ଶିݑ ݑ݀ 

Trigonomet

GHANEM

aluate  the 

න 12 ሺ1 − co
Let     ݑ ൌൌ  − 12 නሺݑଶܿ ൌ − 16 ଷݑ ݔ2+ + ܿ 

aluate  the 

cosଶ sinଶݔ ݔ ∙ 1cocot ݔ  csc ݔ
cosଶ sinଶݔ ݔ  ∙ co

Let       ൌ ଵିݑ−  +
 

ric integral 

              M

following

Sos ሻݔ2 ∙ 2 sicos ݔ2      ଶ − ሻݑ + ݑ݀ 14 ଶݑ + ܿ
following

S1s ݔ ݔ݀  ൌ නݔ ݔ݀  ൌ − cs
1os ݔ ݑൌ ݔ݀  ൌ sin ݔ  ܿ ൌ ିଵ௨  + ܿ

                  

6516       

g integral

Solutionin ݔ2 cos                     ݔ2

g integral

Solutionන cos sinଶݔ ݔ scݔ݀  ݔ + ܿ     
න cos sinଶݔ ݔ  ݀                   ܿ ൌ ିଵୱ୧୬ ௫  +

                  

    68855

න sinଶ ݔ
n ݔ ݔ݀ ൌ 12 න   ݀ݑ ൌ −2

න cotଶ ݔ
n 

                    
ݔ݀ ൌ  න 1sinଶ       ݀ݑ ൌ cܿ ൌ  − csc

                  

              

ݔ sinሺ4ݔሻ
ሺ1 − cos 2ݔ2 sin ݔ2  ݔ݀ 

ݔ sec ݔ ݔ݀
  

1ଶ ݔ ∙ cos ݔ  ݀cos ݔ ݔ ݔ݀  + ܿ 

               P

 غانم        

 ݔ݀

ሻݔ cos ݔ2 ∙ 2

 ݔ

 ݔ݀

5 

حسام

7   Nov.  

2 sin ݔ2 ݔ݀ 
 1996

  ݔ
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Homework 
 

1 Evaluate  the integral න sinହ ݔ cosଶ ݔ December  2003  32 ݔ݀

2 Evaluate  the integral න sinହ secଶݔ ݔ Nov.   1998   14 ݔ݀

3 Evaluate  the integral න cotଶ ݔ sinଷ ݔ   May  1996   5 ݔ݀

4 Evaluate  the integral න sin cosଷݔ ݔ  ݔ݀

5 Evaluate  the integral න cos sinଷݔ ݔ  ݔ݀

6 Evaluate  the integral න sinଷ ݔ sec ݔ  ݔ݀

7 Evaluate  the integral න √sec ݔ sinଷ ݔ December    1997   12 ݔ݀

8 Evaluate  the integral න sinଷ ݔ √sec ݔ December    2000   22 ݔ݀

9 Evaluate  the integral න sinଷ cos√ݔ ݔ May   1998   13 ݔ݀

10 Evaluate  the integral න cosଷ sin√ݔ ݔ May   1999   16 ݔ݀

11 Evaluate  the integral න cosଷ ݔ √csc ݔ July  2004  34 ݔ݀

12 Evaluate  the integral නሺsec ሻସଷݔ sin ݔ December  1995  4 ݔ݀

13 Evaluate  the integral න cosଷ ݔ ඥsinଷ ݔ July  2005  38 ݔ݀

14 Evaluate  the integral න sinଷ 1ݔ − √cos ݔ August   2001   24 ݔ݀

15 Evaluate  the integral න cotଷ sinଷଶݔ ݔ May   2001   23 ݔ݀
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Homework 
 

 

16 Evaluate  the integral න sin 1√ݔ + cos ݔ  ݔ݀

17 Evaluate  the integral න cot cscݔ ݔ − 1 December  1995  4 ݔ݀

18 Evaluate  the integral න cosସ sinଶݔ ݔ  ݔ݀

19 Evaluate  the integral න sinଶ cosସݔ ݔ  ݔ݀

20 Evaluate  the integral න sin sinݔ ݔ2  ݔ݀

21 Evaluate  the integral න cos cosݔ2 ݔ  ݔ݀

22 Evaluate  the integral න cscଷ ݔ2 sin଺ ݔ July  2006 A  41 ݔ݀

23 Evaluate  the integral න sinଶሺ2ݔሻcosሺ2ݔሻ  ݔ݀

24 Evaluate the following න sinሺ2ݔሻsecଷ ݔ 2 ) ݔ݀ 1 2ൗ  points) 56  11 December 2011

25 Evaluate  the integral න csc ݔ tan ݔ  ݔ݀

26 Evaluate the following integral      [3 marks 
e] න sinଷ ݔ secଵ/ଷ ݔ July 24, 2010  52 ݔ݀ 

27 (4 pts.) Evaluate න sin ݔ cos ݔ cosሺ4ݔሻ గ/ଶ.ݔ݀
଴  53  11 December 2010

28 Evaluate  the following integral න secଷ ݔ sin ݔ  ݔ݀

29 Evaluate  the following integral න cscଷ ݔ cotଷ sin√ݔ ݔ  ݔ݀

 
  



 

ܫ ൌ න
Let   ݑ
Anoth
 

ݑ ൌ ܫ  ൌ න
 

ܫ ൌ න    ൌ න     ൌݑ ൌ sܫ ൌ න    ൌ −     ൌ
 
 

(

HOS 

28 

න secଷ ݔ sinݑ ൌ cos ݔ ܫ   ൌ
her solution

ܫ ൌ න stan ݔ            න ݑ݀ ݑ ൌ 12
29 

න cscଷ ݔ  co√sin නݔ sinିଵଷଶ ݔ ∙න sinିଵଷଶ sin ݔ ݔ             න ଵଷଶିݑ ሺ1 −− ଵଵଶିݑ 211  − 211 sinିଵଶ

(19)  8.2    T

SSAM   G

Eva

n ݔ ݔ݀  ൌ න                    ൌ − න ଷݑ1 ݑ݀ 
n 

secଷ ݔ sin →             ݔ ଶݑ ݀ + ܿ ൌ 12
Eva

tଷ ݔݔ ݔ݀ ൌ  න∙ cosଶ ݔ cosሺ1 − sinଶ ଶሻݑ                    ݔ ݑ݀ ൌ  + ଻ଶିݑ 27 +ଵଵଶ ݔ  + 27 sin

Trigonomet

GHANEM

aluate  the 

1cosଷ ݔ sin →    ݔ ݑ݀ ൌݑ ൌ − න ିݑ

ݔ ݔ݀  ൌ න se݀ݑ ൌ secଶ tanଶ 12ݔ ݑ +
aluate  the 

න 1sinଷ ݔ ∙ siݔ ሻݔ ݔ݀  cos ݔ →ݔ݀  ݑ݀ ൌ coන ൬ିݑଵଷଶ −+ ܿ nି଻ଶ ݔ + ܿ 

ric integral 

              M

following

ݔ − ݔ݀  sin ݔ ଷିݔ݀  ݑ݀  ൌ  −
ecଶ ݔ sec ݔݔ  ܿ ݔ݀ 

following

S1inଵଶ ݔ ∙ cosଷsinଷ
os ݔ ݔ ଽଶିݑ  ݔ݀  ൰ ݑ݀ 

                  

6516       

g integral

Solution

12− ݔ ଶିݑ  +
sin ݔ ݔ݀  ൌ

g integral

Solutionݔݔ  ݔ݀  
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න secଷ ݔ
n 

ܿ ൌ 12 ሺcos
න secଶ ݔ sc

න cscଷ s√ݔ
n 

                  

              

ݔ sin ݔ ݔ݀
s ሻିଶݔ + ܿଵ
sin osݔ ݔ ݔ݀  ൌ

ݔ cotଷ sin√ݔ ݔ ݀

               P

 غانم        

 ݔ

ൌ 12 secଶ ݔ
න tan ݔ  se

 ݔ݀

8 

حسام

+ ܿ 

cଶ ݔ  ݔ݀ 




